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MARKS: 25

| 29,4 29 2000 N OO U DN N | (EX:2-1,2)

2 Mark Questions

. FBEHGS. Yoy i
Simplify Y10 jn+50

. z=5-2i Lnr_ngub w=—1+ 3i Teor&Q&metor® z2 + 2zw + w? IDBLIL S 6me6Ts:
&IT600TS.
Ifz=5—2iand w = —1 + 3i Evaluate z% + 2zw + w?

. z,=3,z, = —7i, DOMID z3 = 5 + 4i eTevil6L z,(z, + z3) = 2,2, + 2,23 BIMIEYS.
If z; = 3,2z, = —7i,and z3 = 5 + 4i, show that z,(z, + z3) = 212, + 2123.

R LI i
Simplify Y19 " |:|

. GHEGSH. I +i{2018

Slmpllfy i—1924+i2018
5 Mark Questions

.R2+Dx+(A-Dy+2i—3wmmid x + (-1 + 2y + 1 + i LT W H6eVLIGLIEOOTS 6T
FLOLD 61606V x LOMHMILD y-60T QOIS LIL|S6M6ITE &5 IT6U0TS.
Find the value of the real numbers x and vy, if the complex numbers (2 + )x+ (1 — i)y +
2i—3andx+ (—1+ 2i)y +1 +iareequal

.B-Dx—2-Dy+2i+5w0mmib 2x + (-1 + 20y + 3 + 2i BW
&6VLIGLI6TOTE 6T &FLOLD 6T6uTl6L x DM MILD y -60T OB LIL| S 6M6TS &ITEU0TS.
Find the values of the real numbers x and vy, if the complex numbers (3 —i)x — (2 - i)y +
2i+5and 2x + (—1 + 2i)y + 3 + 2i are equal

. 2y =2+5i,zy) = -3 — 4i, OOMID z; = 1 + i eTev6L 24, Z,, LDMHMILD Z5
L FB WM 6T Fal L6V LOMMID QUIHE 6 CIHITLOMTMISEM6TS &ITEU0TS.
Ifz; =2+ 5i,z, = —3 — 4i,z3; = 1 + i, find the additive and multiplicative inverse

of Z41,Zy, and Z3.
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